The structure is three dimensional
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Port Definition:
Port1 includes Core1, Core2 and Cladding. Port Type is numerical and excitation on.
Port2 includes Core1, Core2 and Cladding. Port Type is numerical and should be off because I would like to make excitation through Core1 and see how the coupling ratio between those is.
Port3 includes Core1`s output, Core2´s output and Cladding. Port Type is numerical and excitation off.
 Port4 includes Core1`s output, Core2´s output and Cladding. Port Type is numerical and excitation off
Which number should I enter for “search mode around” ncore or clad?
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